Division by sharing

EXAMPLE 1
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Worksheet
1.
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Now play The Remainder Game with someone in your family.











Worksheet - Answers
1.
[image: ]        25÷8= 3 r 1





2. [image: ]
32÷8=4
3. [image: ]
36÷9=4
Now play The Remainder Game with someone in your family.
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Omar buys 12 toffee apples for the school gift sale. He puts an equal number of toffee apples into each
of the 3 boxes. How many toffee apples are there in each box?

How many groups is Omar
sharing the toffee apples into?
There are 3 groups.
969969 ik et
‘ How many toffee apples wil
Omar have in each box?

3x4=12s012+%

There will be 4 toffee apples in
each box.
« 12 >
4 4 4 ‘The whole bar is 12 apples, the

3 parts are the boxes and 4is
the number in each group.

What does the bar model represent?
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Janet uses 32 lolly sticks to make 5 shapes that are the same. She uses an equal number of lolly sticks
for each shape. She has 2 lolly sticks left over at the end. Build the shapes she could have made.

QO

32

[ N G I G

30





image3.png
Janet uses 25 lolly sticks to
make 8 shapes that are the
same.

She uses an equal number of
Tolly sticks for each shape.
She has 1 lolly stick left over at
the end
Build the shapes she could
have made
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Mr Jeffrey collects stamps. He has 32 to stick into his album. He sticks them onto 8 pages and there
are an equal number of stamps on each page. How many stamps are on each page?
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A pet shop has a delivery of 36 chinchillas. They put them into 9 cages with an equal number of
chinchillas in each. How many chinchillas are in each cage?




